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1. (3pts) Use trigonometric substitution to evaluate:
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3. a) (1pt) Find the partial fraction decomposition. DO find the values of “A, B, etc”.

= = LR = D\ = ——-———A_ - E .
e N S R (%=4 ) (W=D X6 X X |
21 X o=f 2V = FA > A=
b) (2PtS) J.mdx: x - ’2'\ - __*:‘,/}B - B . %

= S(_ﬁ__Jr :}_'BOW =Y 1x- &) = 3|l 4
X b X

4.(2pts) Let f(x) be a positive function that is increasing and concave down. Suppose LR, M ,,T,, are
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1. (3pts) Use trigonometric substitution to evaluate:
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3. a) (Ipt) Find the partial fraction decomposition. DO find the values of “A, B, etc”.
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4.(2pts) Let f(x) be a positive function that is decreasing and concave up. Suppose L,R,,M,,T,, are
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